




T30P
(Question Practice)



Statements: 
F > D > A ≤ C < B; A > E = G > J; S < J

Conclusions:
I. F > J
II. C > S

1) Only I is True  
2) Only II is True  
3) Neither I nor II is true
4) Both I and II are True
5) Either I or II is True



Statements: 
G ≥ P ≥ I; D < X = I; E > C ≥ P; W = C

Conclusions:
I. P ≤ W
II. G ≥ D

1) None is true  
2) Both I and II are true
3) Only II is true  
4) Only I is true  
5) Either I and II is true 



Statements: 
N < J ≤ U; F ≥ H ≥ Z; J = Z; Q < N

Conclusions:
I. F ≥ J
II. U > Q

1) None is true  
2) Both I and II are true
3) Only II is true  
4) Only I is true  
5) Either I and II is true 



Statements: 
K ≥ F ≤ Q; V > A ≥ P; X ≥ Q; P = X

Conclusions:
I. V ≥ F
II. A < K

1) None is true  
2) Both I and II are true
3) Only II is true  
4) Only I is true  
5) Either I and II is true 



Nine boxes namely A, B, C, D, E, F, G, H and I are placed 
one above the other but not necessarily in the same 
order. Only five boxes are placed between D and C. E is 
placed immediately above C. Only three boxes are 
placed between E and A. D is neither at the topmost nor 
at the bottommost position. As many boxes are placed 
between A and E as between C and F. More than five 
boxes are placed between E and B. One box is placed 
between F and G. I is placed above H but not 
immediately above G.
नौ बॉक्स अर्थात् A, B, C, D, E, F, G, H और I को एक के ऊपर
एक रखथ गयथ है लेककन आवश्यक नह ीं इस क्रम में हो। D और C 
के ब च केवल पथींच बॉक्स रखे गए हैं। E को C के ठ क ऊपर रखथ
गयथ है। E और A के ब च केवल त न बॉक्स रखे गए हैं। D न तो
सबसे ऊपर है और न ह सबसे न चे क स्थर्कत में है। A और E के
ब च उतने ह बॉक्स रखे हैं कितने C और F के ब च हैं। E और B के
ब च पथींच से अकिक बॉक्स रखे गए हैं। F और G के ब च एक बॉक्स
रखथ गयथ है। I को H के ऊपर रखथ गयथ है लेककन G के ठ क ऊपर
नह ीं रखथ गयथ है।



Nine boxes namely A, B, C, D, E, F, G, H and I are placed 
one above the other but not necessarily in the same 
order. Only five boxes are placed between D and C. E is 
placed immediately above C. Only three boxes are 
placed between E and A. D is neither at the topmost nor 
at the bottommost position. As many boxes are placed 
between A and E as between C and F. More than five 
boxes are placed between E and B. One box is placed 
between F and G. I is placed above H but not 
immediately above G.
Number of boxes above H is equal to the number of 
boxes below _____.
1) A
2) B
3) C
4) E
5) F



Nine boxes namely A, B, C, D, E, F, G, H and I are placed 
one above the other but not necessarily in the same 
order. Only five boxes are placed between D and C. E is 
placed immediately above C. Only three boxes are 
placed between E and A. D is neither at the topmost nor 
at the bottommost position. As many boxes are placed 
between A and E as between C and F. More than five 
boxes are placed between E and B. One box is placed 
between F and G. I is placed above H but not 
immediately above G.
How many boxes are there between D and G?
1) One 
2) Two   
3) Three  
4) Four  
5) None



Nine boxes namely A, B, C, D, E, F, G, H and I are placed 
one above the other but not necessarily in the same 
order. Only five boxes are placed between D and C. E is 
placed immediately above C. Only three boxes are 
placed between E and A. D is neither at the topmost nor 
at the bottommost position. As many boxes are placed 
between A and E as between C and F. More than five 
boxes are placed between E and B. One box is placed 
between F and G. I is placed above H but not 
immediately above G.
Which of the following statement is true?

1) A is placed three places above G.  
2) There are four boxes between I and G.  
3) A is placed immediately below D.  
4) Number of boxes above D is equal to the number of 
boxes below G. 
5) All are true



Nine boxes namely A, B, C, D, E, F, G, H and I are placed 
one above the other but not necessarily in the same 
order. Only five boxes are placed between D and C. E is 
placed immediately above C. Only three boxes are 
placed between E and A. D is neither at the topmost nor 
at the bottommost position. As many boxes are placed 
between A and E as between C and F. More than five 
boxes are placed between E and B. One box is placed 
between F and G. I is placed above H but not 
immediately above G.
How many boxes are below I?
1) One  
2) Five  
3) Six  
4) Four  
5) Seven



Nine boxes namely A, B, C, D, E, F, G, H and I are placed 
one above the other but not necessarily in the same 
order. Only five boxes are placed between D and C. E is 
placed immediately above C. Only three boxes are 
placed between E and A. D is neither at the topmost nor 
at the bottommost position. As many boxes are placed 
between A and E as between C and F. More than five 
boxes are placed between E and B. One box is placed 
between F and G. I is placed above H but not 
immediately above G.
How many boxes are below I?
1) One  
2) Five
3) Six  
4) Four
5) Seven



Nine people A, B, C, D, E, F, G, H, and I are sitting 
in a row. All of them are facing north. Only two 
people sit between H and F who sit in the middle 
of the row. The number of people sits to the right 
of E is the same as the number of people sit left 
of C. E sits second to the left of B who is an 
immediate neighbor of H. A sits third to the right 
of G. More than one person sits between D and I, 
where I is not an immediate neighbor of C.
नौ व्यस्ि A, B, C, D, E, F, G, H और I एक पींस्ि में बैठे
हैं। ये सभ उत्तर किशथ के समु्मख हैं। H और F, िो कक
पींस्ि के ब च में बैठथ है, के ब च में केवल िो व्यस्ि बैठे हैं।
E के िथएीं बैठे व्यस्ियोीं क सींख्यथ, C के बथएीं बैठे व्यस्ियोीं
क सींख्यथ के समथन है। E, B, िो कक H कथ कनकटतम
पडोस है, के बथएीं से िूसरे थर्थन पर बैठथ है। A, G के िथएीं
से त सरे थर्थन पर बैठथ है। D और I के ब च में एक से
अकिक व्यस्ि बैठे हैं, िहथाँ I, C कथ कनकटतम पडोस नह ीं
है।



Nine people A, B, C, D, E, F, G, H, and I are sitting 
in a row. All of them are facing north. Only two 
people sit between H and F who sit in the middle 
of the row. The number of people sits to the right 
of E is the same as the number of people sit left 
of C. E sits second to the left of B who is an 
immediate neighbor of H. A sits third to the right 
of G. More than one person sits between D and I, 
where I is not an immediate neighbor of C.
In some way D is related to C, F is related to I, H 
is related to which of the following in the same 
way?
1) B
2) E
3) G
4) C
5) A



Nine people A, B, C, D, E, F, G, H, and I are sitting 
in a row. All of them are facing north. Only two 
people sit between H and F who sit in the middle 
of the row. The number of people sits to the right 
of E is the same as the number of people sit left 
of C. E sits second to the left of B who is an 
immediate neighbor of H. A sits third to the right 
of G. More than one person sits between D and I, 
where I is not an immediate neighbor of C.
What is true regarding H?
1) Sits second to the left end  
2) Immediate neighbor of E  
3) Sits second to the right end  
4) Both 1) and 2)
5) Both 2) and 3)



Nine people A, B, C, D, E, F, G, H, and I are sitting 
in a row. All of them are facing north. Only two 
people sit between H and F who sit in the middle 
of the row. The number of people sits to the right 
of E is the same as the number of people sit left 
of C. E sits second to the left of B who is an 
immediate neighbor of H. A sits third to the right 
of G. More than one person sits between D and I, 
where I is not an immediate neighbor of C.
How many people sit between F and G?
1) None
2) One  
3) Two  
4) Three
5) None of these



Nine people A, B, C, D, E, F, G, H, and I are sitting 
in a row. All of them are facing north. Only two 
people sit between H and F who sit in the middle 
of the row. The number of people sits to the right 
of E is the same as the number of people sit left 
of C. E sits second to the left of B who is an 
immediate neighbor of H. A sits third to the right 
of G. More than one person sits between D and I, 
where I is not an immediate neighbor of C.
The number of persons sits between A and D is 
the same as the number of persons sits between 
I and ----?
1) B
2) C
3) H
4) F
5) D



947 376 694 739 863

If all the digits in each of the numbers are 
arranged in increasing order within the 
number, then, which of the following number 
will become the lowest in the new 
arrangement of numbers?
यकि प्रते्यक सींख्यथ में सभ अींको ीं को सींख्यथ के भ तर
बढ़ते क्रम में व्यवस्थर्त ककयथ िथतथ है, तो सींख्यथओीं क 
नई व्यवथर्थ में कनम्न में से कौन स सींख्यथ सबसे छोट 
हो िथएग ?

(a) 947
(b) 863
(c) 739
(d) 694
(e) 376



947 376 694 739 863

If all the numbers are arranged in ascending 
order from left to right then, which of the 
following will be the sum of all the three digits 
of the number which is 2nd from the right in 
the new arrangement?
यकि सभ सींख्यथओीं को बथएीं से िथएीं आरोह क्रम में
व्यवस्थर्त ककयथ िथतथ है, तो नई व्यवथर्थ में िथईीं ओर से
िूसर सींख्यथ के सभ त न अींको ीं कथ योग कनम्नकलस्खत
में से कौन सथ होगथ?

(a) 18
(b) 19
(c) 15
(d) 16
(e) None of these



947 376 694 739 863

What will be the difference when third digit of 
the 3rd lowest number is multiplied with the 
second digit of the highest number and third 
digit of the 2nd highest number is multiplied 
with the second digit of the lowest number?
िब त सर सबसे छोट सींख्यथ के त सरे अींक को सबसे
बड सींख्यथ के िूसरे अींक से गुणथ ककयथ िथतथ है और
िूसर सबसे बड सींख्यथ के त सरे अींक को सबसे छोट 
सींख्यथ के िूसरे अींक से गुणथ ककयथ िथतथ है तो क्यथ
अींतर होगथ?
(a) 21
(b) 20
(c) 15
(d)16
(e) None of these



947 376 694 739 863

If the positions of the second and the third 
digits of each of the numbers are 
interchanged then, how many even 
numbers will be formed?
यकि प्रते्यक सींख्यथ के िूसरे और त सरे अींक के
थर्थन आपस में बिल किए िथएाँ , तो ककतन सम
सींख्यथएाँ बनेंग ?
(a) None
(b) One
(c) Two
(d) Three
(e) Four



947 376 694 739 863

If one is added to the second digit of each of 
the numbers and one is subtracted from the 
third digit of each number then, how many 
numbers thus formed will be divisible by 
three in new arrangement?
यकि प्रते्यक सींख्यथ के िूसरे अींक में एक िोडथ िथतथ है
और प्रते्यक सींख्यथ के त सरे अींक में से एक घटथयथ
िथतथ है, तो इस प्रकथर बन ककतन सींख्यथएाँ नई
व्यवथर्थ में त न से कवभथज्य हो ींग ?

(a) None
(b) One
(c) Two
(d) Three
(e) Four



In a certain code language,
‘Logitech And the Logo’ is coded as 
‘yi pq mn as’
‘Registered Trademark and the’ is coded as 
‘mn bn st pq ‘
‘Registered Corporate the Logo’ is coded 
as 
‘cd as mn bn’
Which of the following is the code for 
‘and’?
(a) st
(b) bn
(c) pq
(d) mn
(e) None of these



In a certain code language,
‘Logitech And the Logo’ is coded as 
‘yi pq mn as’
‘Registered Trademark and the’ is coded as 
‘mn bn st pq ‘
‘Registered Corporate the Logo’ is coded 
as ‘cd as mn bn’
Which of the following word is coded as 
‘mn’?
(a) Corporate
(b) Logo
(c) Trademark
(d) Registered
(e) None of these



In a certain code language,
‘Logitech And the Logo’ is coded as 
‘yi pq mn as’
‘Registered Trademark and the’ is coded as 
‘mn bn st pq‘
‘Registered Corporate the Logo’ is coded 
as ‘cd as mn bn’
What may be the code of ‘Corporate 
society’?
(a) st pq
(b) cd mn
(c) pq bn
(d) mn pq
(e) cd qw



In a certain code language,
‘Logitech And the Logo’ is coded as 
‘yi pq mn as’
‘Registered Trademark and the’ is coded as 
‘mn bn st pq ‘
‘Registered Corporate the Logo’ is coded 
as ‘cd as mn bn’
Which of the following code is coded for
‘logitech’?
(a) mn
(b) Pq
(c) bn
(d) cd
(e) None of these



In a certain code language,
‘Logitech And the Logo’ is coded as 
‘yi pq mn as’
‘Registered Trademark and the’ is coded as 
‘mn bn st pq ‘
‘Registered Corporate the Logo’ is coded 
as ‘cd as mn bn’
What will be the code of ‘the Logo’?
(a) st pq
(b) cd as
(c) cd pq
(d) mn as
(e) st bn



Eight members A, B, C, D, E, F, G and H in a 
family, there are three married couple in this 
three generation family. A is the son-in-law of 
H who has only one daughter. B is the 
maternal grandmother of F. C is the only son 
of D who is the father of H. E is the sister-in-
law of F. C is unmarried. F is not a male 
member. G is spouse of H. E is unmarried.
एक पररवथर में आठ सिस्य A, B, C, D, E, F, G और H
हैं, इस त न प ढ़ के पररवथर में त न कववथकहत िोडे हैं।
A, H कथ िथमथि है किसक केवल एक पुत्र है। B, F क 
नथन है। C, D कथ इकलौतथ पुत्र है िो H कथ कपतथ है। E, 
F क कसस्टर-इन-लॉ है। C अकववथकहत है। F पुरुष
सिस्य नह ीं है। G, H कथ ि वनसथर् है। E अकववथकहत
है।



Eight members A, B, C, D, E, F, G and H in a 
family, there are three married couple in this 
three generation family. A is the son-in-law of 
H who has only one daughter. B is the 
maternal grandmother of F. C is the only son 
of D who is the father of H. E is the sister-in-
law of F. C is unmarried. F is not a male 
member. G is spouse of H. E is unmarried.
If K is the father of G, then what is the relation
of K with respect to F?
(a) Paternal grandfather
(b) Maternal grandfather
(c) Father
(d) Brother-in-law
(e) Son-in-law



Eight members A, B, C, D, E, F, G and H in a 
family, there are three married couple in this 
three generation family. A is the son-in-law of 
H who has only one daughter. B is the 
maternal grandmother of F. C is the only son 
of D who is the father of H. E is the sister-in-
law of F. C is unmarried. F is not a male 
member. G is spouse of H. E is unmarried.
If C is married to R, then who among the
following will be nephew of R?
(a) E
(b) A
(c) F
(d) G
(e) None of the above



Eight members A, B, C, D, E, F, G and H in a 
family, there are three married couple in this 
three generation family. A is the son-in-law of 
H who has only one daughter. B is the 
maternal grandmother of F. C is the only son 
of D who is the father of H. E is the sister-in-
law of F. C is unmarried. F is not a male 
member. G is spouse of H. E is unmarried.
Who among the following is the brother-inlaw
of G?
(a) D
(b) B
(c) A
(d) C
(e) E



Eight members A, B, C, D, E, F, G and H in a 
family, there are three married couple in this 
three generation family. A is the son-in-law of 
H who has only one daughter. B is the 
maternal grandmother of F. C is the only son 
of D who is the father of H. E is the sister-in-
law of F. C is unmarried. F is not a male 
member. G is spouse of H. E is unmarried.
Who among the following is the brother-inlaw
of G?
(a) D
(b) B
(c) A
(d) C
(e) E






